1.10 m

balustrada, h

.56 m.n.p.m.
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+0.72

ELEWACJA WSCHODNIA

Q
£ ©
mw N
I
2 2
5 3 2
= 2 o~
Is] o ™
D [a) ©
e =) <
g @ 8
[
ol 2 x s
o [=} 2 w
m ) H Rl e
_t ~13 ole
= a N B AR L
o o sflz offa|d ™
= 5| ©
> o
Z g 3 c ©
= 2 4 > €
(4 [Sh-] [ >
z| 83 ¢ &
g =
2 o 5 8 = =
o) WO 0 o @
z 0 N —= N (3]
o) S = s 5 =
< ] > 3 O =
= S = o« ]
2| ZF| % g
SN
M 2o S X -
= g = Q ™ b
=2 mw @ am <
8 o
m ~ g 3 5L o N
S o ro o|t® ® >
a| 5 3 ' 891352 S 19
< > | © S| ® @ N
< e 5 ~ B |5 < 2
Z| s o| g €
= O N £ vw
o 1SN ® =
x S5 W0 N [}
o5 o ] 2
|8 E - N =< o
Q|2 g L 0 > i X 4
0|80 &| z § s | R =
] - - 2 9o =
Flezs| o 2 $3H| 8] ©
Oo|338 I 2 <| | €@ w N <
olzs | o o S| 58 8 § o
|28 w| of, 21 ¥ ZLE| & o
N|g2 S sldwl 2| 2| 8 8 =
oW,l 4 ERs N4 @ 29 IS
283 T g w|_2| 6E£3 S|ls O
| c <€ EQS I Flg S|l-=35 % S|z X
2 HEAEEEEIEE] E PR R i
o = X |8 s .13 - . = -]
g sQIEE E|i)|cu)il|ss|lices|ig|: s
= N [=) 15 2|5
g Falfc Jd|ESfufs<|dc|Scacw|am|S T
Q
c
2\
<
o
<t
N
N
1
00}
o
+
<
N~
fo'e)
—
N
1
Lo
o
+
=8
c
o
—
AN
11
' o
=
o
+1
|
gL ——————— 1
SES
S s
e
g LS
853
= N — — — — —— — ]
Qo
O &
5%
X C
‘O
€
D N 1 R
~ A
-
£ )
5 @)
3 sy 0 ]
©
=
(%2}
=
5 W
Qo
g L
= —
£
5 L
o
N
"
vov oz 3
0L b




